
Y
A

LC
M

100
TRA

N
SERV

O
FLIP

-X
P
H

A
SER

X
Y

-X
Y

K
-X

Y
P
-X

C
LEA

N
INFO

RM
ATIO

N
CO

N
TRO

LLER

152 TS-S2 492 TS-SH 492 TS-SD 502

STH04

28□
4096 /

※1 ±0.05 mm

＋
5 mm 10 mm

※2 200 mm/sec 400 mm/sec
6 kg 4 kg
2 kg 1 kg
55 N 30 N

50 mm / 100 mm
W45 mm × H46 mm

W74.5 mm × H51 mm
：1 m / ：3 m, 5 m, 10 m

※1. 。
※2.  。 

“ - ” 。 
P.130。

MPMR

MY

（ ：N・m）

MY MP MR
50mm 26 26

48
100mm 43 43

  ● CE      ●    

■ （ ）

STH04 ー ー ー ー ー

ー ※1 ー ー ※3 ー ー ※4

05：5mm S： N： N： ※2 N： 50：50mm 1K：1m
10：10mm R：  

  （ ）
B： Z： H： 100：100mm 3K：3m

5K：5m
L：  
  （ ）

10K：10m

※1. （R、L）， 100mm 。
※2. ， 。 。
※3.  （R、L）， 。
※4. 。
※5. DIN P.500。
※6. TS-SD。
※7. 。 P.62。

A

CB C
B

A
A

C

     （ ：mm）     （ ：mm）     （ ：mm）

A B C A B C A C

10

2kg 1534 611 415

10

2kg 435 595 1504

10

0.5kg 2000 2000

3kg 949 374 255 3kg 263 359 920 0.75kg 1558 1558

4kg 656 255 175 4kg 177 241 629 1kg 1165 1164

5

2kg 1534 611 415

5

2kg 435 595 1504

5

1kg 1165 1164

4kg 656 255 175 4kg 177 241 629 1.5kg 771 771

6kg 364 137 95 6kg 91 123 337 2kg 574 574

※ 3000km 。 
（ 75mm）

TS-S2
TS-SH

/

TS-SD※

※ TS-SD。

 (k
g)

 (mm/s)

0
1
2
3
4
5
6
7

0 100 200 300 400 500

 5

 10

0

0.5

1

1.5

2

2.5

0 100 200 300 400

 (
kg
)

 (mm/s)

 5

 10

■ ー ■ 

STH04

A

A

(24)

(1
5)

(3
1)

(40)

4-M6×1.0
12

5.5

8.
374

60
40
25

L
11.5

1±0.5（ 2） 【1±0.5】（ 2）

（ ） （ ）
86(2.1)

D 9

41
.5

200（ ）
180（ )

24

5
0.

03
0.

0 5

6

(C/2-1)×B 20

B

R φ5
+0.03
+0.01 5

C-M5×0.8 6.5

4H
9(
+

0.
03

0
 0

)
5

5

45 15.5

φ4H9(           )+0.030
 0

5

28

EG 9
2-M6×1.0 12
※

R

29

45

46
±

0.
3

37
0.

3

17

2-M5×0.8
8

7 25.5

4-
9.

5（
4）

4-φ
5.

3

149.5（ ）

※ ： 4
， 。

 A-A

■ ■ ※ ■ 

50 100
B 40 44
C 6 8
D 116.5 191.5
E 65 85
G 39.5 88.5
L 122 191
（kg） 6 1.25 1.7

1. 。
2.  。 
【 】 。

3. R30。

4. ， M5。
5. 。
6. 0.11kg。

S2
S2：TS-S2※5 NP：NPN

PN：PNP
CC：CC-Link
DN：DeviceNetTM

EP：EtherNet/IPTM

PT：PROFINET
GW： I/O ※7

SH ー

ー
SH：TS-SH NP：NPN B：（ ）

PN：PNP N：（ ）
CC：CC-Link
DN：DeviceNetTM

EP：EtherNet/IPTM

PT：PROFINET
GW： I/O ※7

SD 1
I/O

SD：TS-SD※6 1：1m

R L



Y
A

LC
M

1
0
0

TRA
N

SERV
O

FLIP
-X

P
H

A
SER

X
Y

-X
Y

K
-X

Y
P
-X

C
LEA

N
CO

N
TRO

LLER
INFO

RM
ATIO

N

153TS-S2 492 TS-SH 492 TS-SD 502

STH04

STH04

A

A

L16.5

(2.3) 13

1±0.5 【1±0.5】

( 1) ( 1)

37

G 8

5
＋

0
03

＋
0

0
5

(C/2-1)×B 19

B

6

R

24

φ5
+0.03
+0.01 5

C-M5×0.8 6.5

F

5

R
4H

9(
+0

.0
30

 0
)

4
D

(E-1)×D 18

40
(2

5)

φ4H9( +0.030
 0 )

4

E-M6×1.0 12
 A-A

29

452.5

5.
513

72.5 (2)

51
±

0.
3

35 0.
3

17
.2

3-M5×0.8
8

35.59

φ
（

4） φ
9.

5

φ
5.

3

（
6）

160（

）

120（

）

(40)

(1
5) (3
1)

(24)

(12)

( 2) ( 2)

 A-A

STH04

A

A

L16.5

(2.3)
13

1±0.5 【1±0.5】
( 2)( 2)

( 1) ( 1)

37

G 8

5
＋

0.
03

＋
0.

0
5

(C/2-1)×B 19

B

6

R

24

φ5 +0.03
+0.01  5

C-M5×0.8 6.5

F

5

R4H
9(
+0

.0
30

 0
)

4

D

(E-1)×D 18

40
(2

5)

φ4H9( +0.030
 0 )

4

E-M6×1.0 12
 A-A

29

45 2.5

5.
5 13

72.5(2)

51
±

0.
3

350.
3

17
.2

3-M5×0.8
8

35.59

φ
（

4）

φ
9.

5

φ
5.

3

（
M

6）

160（

）

120（

）

(40)

(1
5)(3

1)

(24)

(12)

 A-A

50 100
B 40 44
C 6 8
D 45 44
E 2 4
F 45 88
G 116.5 191.5
L 106 181
（kg） 7 1.15 1.6

1. 。
2.  。 
【 】 。

3. R30。
4.  ，

， （M5）。
5. 。
6. 100mm 。
7. 0.11kg。

50 100
B 40 44
C 6 8
D 45 44
E 2 4
F 45 88
G 116.5 191.5
L 106 181
（kg） 7 1.15 1.6

1.  。
2.   。 
【 】 。

3.  R30。
4.   ，

， （M5）。
5.  。
6.  100mm 。
7.  0.11kg。




